Year 2 Maths problems -Answers

Which times table are these numbers
from?

24 40
20 39

16
36

4x table. Also accept 2x table

i r N f 'a
Section 1 Section 2 Section 3 Section 4
Caitlin and Clare equally shared some 1 —— How many 50ps would you need to make £3? Write
shells. There was one left over. Both girls 12 I + 30 = 42 S of 18is| 9 a multiplication number sentence to show
had 16 shells. How many shells did they your answer.
)
have altogether? 4“0 - _ 2 % of 20is| 5
— 6 x 50p = £3
1 . or
15 [+ 15 = 30 - of 12is| 6 6 x 50 = 300
\. 7 \ .
Section 6 Section 7 Section 8
\ Eggs are packed in boxes of 6. Addition Pyramid How many minutes in 2%
There are 30 eggs altogether. Tip: The bottom numbers add hours.? Show your
Section 5 How many boxes are there? together to make the top number. working out.

30

15

15

60 + 60 + 30 = 150




Beat it test — answers

(‘

BIG MATHS... W

N
[z@ Beat That’ tine was.. }

*B EAT THAT!
4+7=11 7+9=16 3x10=30 |7xb=35 |7x10=70
8x10=80 |3xb=15 3x2=6 5+9=14 Ox2=18
6x5=30 | 5+4=9 5+7=12 8xb6=40 |6+9=15
7+8=15 9x10=90 |3+9=12 6x10=60 |8x2=16
5x2=10 6+7=13 4x5=20 | b5+6=11 5x10=50
4+8=12 4x10=40 |8+9=17 4x2=8 4+9=13
2x2=4 9xb5=45 |bxb=25 |6x2=12 2x5=10
2x10=20 |5+8=13 3+8=11 6+8=14 7x2=14




Topic — Sort human and physical features of the seaside

Human — promenade, harbour, shop, pier, fairground, lighthouse

Physical - sand, sea, vegetation, cliffs, coast, shingle,



